THTLE: BT TO3TL-XXKA-X-G

NOTES:
| ALL DIMENSIONS +/- | OMM UNLESS NOTED

2. DIMENSIONS SHOWN ARE FOR ALL TOUCH TECHNOLGIES UNLESS NOTED.

47 .1
(44 1TMAX) 0SD CONTROLS
-ACCUTOUCH
-INTELLITOUCH
-SURFACE CAPACITIVE

BE/ZEL WITH WIPER-BLADE SEAL

> < ) ]
N
304 |
(ACTIVE AREA)
& |
I 228 .| 1 204 4
(ACTIVE AREA) 237 0
(CENTERING LIP)
(@) |
g i
, |
© ) -
. SEE DETAIL A
(CENTERING LIP)
REMOTE OSD

OPTITONAL: OSD REMOTE P/N E£E483757

(ORDER SEPARATELY)
USB TOUCH

2V POWER SERTAL TOUCH

313.0
DETAIL A (CENTERING LIP)
(CENTERING LIP)
SCALE 2.000

MS600159

OF © DATE: 6-13-"14

SHEET

REV: J

DIMENS TONS ARE IN MILLIMETERS




THTLE:

EL O3 TL-XXKA-X-G

IR OPTION

\j) I©

N

(77

\J) I@

2]

DIMENS TONS ARE

I[N MILLIMETERS

440
(46.0 MAX)

SHEET 2 OF ©

MS600159

DATE: 6-13-"14

REV: J




THTLE: BT TO3TL-XXKA-X-G

SECURETOUCH OPTION

= =
® ©
® ©

|
® ©
® ©
= =7

DIMENS TONS ARE

I[N MILLIMETERS

43 .1
(45,7 MAX)

SHEET 3 OF ©

MS600159

DATE: 6-13-"14

REV: J




RECOMMENDED CUSTOMER
PANEL CUT-OUT «¢see note #)

THTLE: BT TO3TL-XXKA-X-G

347 4 NOTE A
CUSTOMER PANEL MATERIAL:
R6.0, 3140+ 170 . WOOD: 4.5 HOLES THRU
M + + FOR M4 SCREWS W/NUTS,
\Xx, OR, NO TH;& HOLES . SCREWS
FOR WOOD & 4mm.
) ] VESA MOUNT SIDE MOUNT, VERTICAL
2> SHEET METAL: CONCEALED HEAD
THREADED STUDS M4 W/NUTS.
T f +
NOTE B
clo.4 = 100.0 —= M4 THREAD.
MONITOR INCLUDES 2 BRACKETS, — 75 = MAX . SCREW DEPTH Tmm
238.0 +1/-0 ADD I TIONAL BRACKETS AVAILABLE. |
PN E203787
144 0 - - + _ _
NOTE €
272 mm = SECURE TOUCH AND IR
T4 +
\_ J
6.0
+ +
[]
o i .
[]
1440 — b
REAR MOUNT WITH BRACKETS,
HORIZONTAL AND VERTICAL (SEE noTE 8)
MOUNT ING BRACKETS
ACCOMMODATE MAX. | 4mm
MATERIAL THICKNESS. 254
357 4 (SEE NOTE C)

SIDE MOUNT, HORIZONTAL

285. 4

DIMENS TONS ARE IN MILLIMETERS

BRACKET [N
HORITZONTAL POSITION,

25.4
(SEE NOTE C)

BRACKET IN VERTICAL POSITION, EIn

MS600159

SHEET 4 OF © DATE: 6-13-"14

REV: J




BLACK ANODIZE FINISH—

THTLE: BT TO3TL-XXKA-X-G

FRONT MOUNT OPTION
P/N E323425

(ORDERED SEPERATLY, CUSTOMER ASSEMBLED)

373 .4
RT3
X 4
f\ X ]
(7 N\
FRONT MOUNT ASSY .
301 .4
ETI1537L MONITOR
FRONT MOUNT BRACKETS (2)
(INCLUDED WITH FRONT MOUNT ASSY.)
\ ), CUSTOMER PANEL :
—| FRONT MOUNT BRACKETS ACCOMMODATE
. Bl ) MAX . |dmm MATERIAL THICKNESS.
CUSTOMER PANEL CUT-0UT 15 MAY NOTE -
AND - MOUNTING HOLES ¢ X4 . IF CUSTOMER PANEL MATERIAL IS WOOD:
‘ @4 Smm HOLES THRU FOR M4 SCREWS,
| / 55 0 OR NO THRU HOLES, SCREWS FOR WOOD & 4mm.
| |
+ + 7 X4 2. |F CUSTOMER PANEL MATERIAL IS SHEET METAL:
- < CONCEALED HEAD THREADED STUDS M4 WITH NUTS.
3134 /
(FOR BRACKETS n "
+ + IN HORIZ. POSITION) - — )
r N
o H ESse9H 0000000 o
160 - - * - - - - - - i - ¢ 500 o ®0 voo
000 000
000 000
000 @H@ 000 ;)
000 © 0© ° o0 |ooo
+ + © e
284 4 +£1.0 284 4 o 324 .4
o o (FOR BRACKETS
N HORIZ.POSITION)
000 000
000 000
© ©
\. J C 000 ® © %Poo )
+ + d OOZ 000 @
/ 5 0 r 7 s
A PH L J
\ J
356.4 4| == ==
385. 4 — = /

(FOR BRACKETS [N
VERT. POSITTION)

DIMENS TONS ARE

I[N MILLIMETERS

396 .4 aln

(FOR BRACKETS [N
VERT.POSOTION) SHEET 5 OF 6 MS600159

DATE: 6-13-"14

REV: J




THTLE: BT TO3TL-XXKA-X-G

RACK MOUNT OPTION
P/N E295006

(ORDERED SEPERATLY, CUSTOMER ASSEMBLED)

DLACK ANODI/E

34.88

4182 .6

42.0-43 .1

"
o O 1B
TR @ 0
~ M (J/i [ "

A A 4 1Y

/

399 0
146 .0
200.0

(==
(=

165.0

MS600159

DIMENS TONS ARE IN MILLIMETERS SHEET © OF © DATE: 6-13-"14

REV: J




	Sheet 1
	Views
	new_view_44
	right_44
	right_45
	bottom_46
	A


	Sheet 2
	Views
	new_view_145
	right_146
	bottom_147


	Sheet 3
	Views
	main_view
	right_106
	bottom_106


	Sheet 4
	Views
	main_view
	new_view_59
	right_59
	bottom_59
	new_view_137
	left_138


	Sheet 5
	Views
	new_view_114
	new_view_139
	right_140
	new_view_142
	new_view_143
	new_view_144


	Sheet 6
	Views
	new_view_133
	right_134
	bottom_135



